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e A ansnmaa field i to be geann_ 3 a fence on three sides and by a EBmH stream on the fourth side.

En_ Ew Euamsm_oum of the field with maximum area that can be enclosed with 1000 féet of mmanm

2. “ > m_.aﬂ of nmhnucma 12 in. square is Emn to make an gpen box by Sﬂum squares of WEE size from the
four comers and ».oEEm up the sides. What size Smﬁ.mm mona un cut to auE.u a _ucx with largest uo%_En
volume? .

3. A rec¢tangie has its two lower comers an Em X-aXiSs and its two upper corners on the curve y =216 — x2,
For mm such Bngm_nm. what are the dimensions of nﬁ one with the largest area?

4. mﬁn two E:ucma whose sum i 20'and swomn ?.omnﬁ is maximum.

.m>n5m@nnongmﬁm_.oon§b2§5wmn=ﬁm uwwmmaumswm ﬁpﬂanemmoeo nEm ?Eu En &Emn.ﬂonm
“of Ea box with the least surface area. .

6. Bruceisonthe ‘bank of a river that is 1 mi. sano He wanis.o travel to the town of Casco.on the opposite
bark; but 1 mi.upstreara. He intends-to row on-a straight lirie fo.some point on the opposite bank and then walk
the remaining distance aldng the bank. To what point shoiild he row in order to reach his destination in the least
gmnwmnmhﬁﬁwmsgaaéw%g

. .u.., >nucmaa nu..ggnm_amnpmswo_nwooo oBmom __nEn_ Eos %oEa woz nwoomm nﬁwﬂmﬁﬁ?ﬁ&ums
minitiize the amount of - Bwﬁma nomnmn ‘to:manufacture the.can? .

8 - A piece of wire 20:¢ri_long is.cutinto two pieces; " one: anm is’bent to: mcnd a circle and the other js bent
“to form a w@ﬁw aﬁﬁa should Em cutbe Bwan in-order-that n_.ﬁ sum of the aréas of the squate and circle be a-
w inimum? -
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‘Henry, whoisina _.os&omﬁ 2 Ebnm ».BB the nearest voﬁp Bona mw._mE wwoarn? notices

- smake billowing from his house, which is 6 miles down the shoreline from B. He mm_._:.mm he
can row at-6mph and run 10 mph. How should he proceed in order to get to his house in the
teast-amount of time? : .

A ?Bun-. wishes to mnnon off two identical m&oEEm _.onﬁumiuu pens, each with 900 square
feet of area, as shown in the figure below.

(2} ﬂwwﬂ are E@ outside &.Bon.ﬁonm of the pens so that the _omm" amonnt of fence is
required?

?V m:uwcmn En outer gEﬁmQ of n..n pens BmEBm unmqw. wauna Eﬁoﬁ.ﬁ $3 per foot; but
that the middle paifition requirés fence costing only $2 per foot. What dimensions will
produce the Jeast expensive fence? o

i A piece of wire =16 inches monm is cut into two.pieces; opepiece is wonﬂ to mo_.n_ a'sfjuare mna
the othet is bent to form # circle. Where should the cut be made in order that the sum of the
areas om the mmm».d and the n_._.o_n bea EE.E..:.:;

i > nonﬁ_uma with square _uwmu <n_.nnmm m_n_nm E-m Qm.au 3@ is 8 wo Bmao de 58% of
material. w.lEm Eo &Smnronm of the nonﬁ_una .SE En mu.anﬁmﬂ <oEBn

& Iaclosedtin éan of volume I6m cubiciriches istobo i the form of a _._mEéudEE,
nwwuzwo—. find the height and radius if the least amount of material is to be used in jts
H_mu acture,

N > ouw.maQ UEEEm Esnm a nonﬂuwaﬂ floor space of 13,200 .ﬁa&d wonﬂ istobe .
-consturcted where 2 walkway 22 feet wide is required in the front and back and a walkway
15 feet wide is required on each side. Find the dimensions of the jot having the least area
on which this cEE:..m can be located.

A >u oﬁnﬂ box is to bemade from a 3- # ww gt EnBumquEnnn of uron»_uaﬁ 5 nﬂﬁnm

out squares of equal size from the four corners and coEuEw up the sides. Find n.m
maxiraum volume that En box can have.

L A cone urmbon wwm&u E._Ennm cupisic roE 10cm? Q. water: m..Em Gn wu.mwn and E&ﬁ of

the cup that will require the least amount of peper. A V=1 \muan SA= L FTEE ol v
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